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Sl. No.1
QBID:1007376

Choose the correctly spelt word

(1) Penaces (2) Panacea

(3) Panacae (4) Panecea

(1) 1
(2) 2
(3) 3
(4) 4

frefafiga o &F =1 gy =094 27
(1) Ed 2)
(3) o) (4) 4

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25401]
2[Option ID=25402]

3[Option ID=25403]
4[Option ID=25404]

Sl. No.2
QBID:1007377




Given below are four sentences 1n jumbled order. Select the option that gives their correct

order.

(A) The old sculptor. Jakanachari. was working on the main image of the temple in the

inner shrine.

(B) At the next full moon it was to be consecrated and opened for worship.
(C) The temple of Belur was nearly ready.
(D) He spoke to no one and tolerated no interruption.

Choose the correct answer from the options given below :

(1) (A). (D) (B (O
(2) (C). (B). (A). (D)
(3 (B). (C). (A). (D)

(4) (B). (A). (C). (D)

(1) 1
(2) 2
(3) 3
(4) 4

7o o] @9 AL 27
(1) & TeY (2)
(3) ] (4)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25405]
2[Option ID=25406]

3[Option ID=25407]
4[Option ID=25408]

Sl. No.3
QBID:1007378




Choose the correct sentence,

(1) I recommend that he see a doctor.
(2) I recommend that he sees a doctor.
(3) I recommend that he 1s seeing a doctor.
(4} I recommend that he has to see a doctor.
(1) 1
(2) 2
(3) 3
4) 4

419 2 #ua fou o B vsh AAiueYs (Assertion (A)) % ¥4 ° fafga 2 A =3kt 394 %MV (Reasons
(R)) & ¥4 4 :

Ay (A) - d vree foe i onfees 59 7 o werSH-g9 gan w9 foren S 2, eneafores
FUS] AL 9152 FHEAT B

%1 (R) : foreft gid 1 F@ B0 YT Fad 2, 91 98 THE & ¥ U F 26 N9 F 5UH g@ |
fyapten ST 21 e TE@ wnEfeE 2

I YA o el °, A fqu o famedi U 5 qEH 30y I & 954 Fifau
(1) (A) 31 (R) <HI @41 2 3 (R), (A) F #A =re 2

(2) (A IR ®) ZH HE 2, @l R), (A) F wEl smen T@ 2

(3) (A HA 2, wf (R) |81 481 2

@ Qw2 |l ®) A 2

(1)
(2)
(3)
(4)

A W N =

1[Option ID=25409]
2[Option ID=25410]
3[Option ID=25411]
4[Option ID=25412]

Sl. No.4
QBID:1007379




Match List I with List IT

ListI Last II
(A) Honorary (I} One who does good to mankind
{(B) Mercenary (II) The motive to earn money
(C) Philanthropist (III) An office without pay
(D) Prodigal (IV) One who wastes money

Choose the correct answer from the options given below :

(1) (A)-(IID). (B)-(II). (C)-(I). (D)-(IV)
(2) (A)-(IV). (B)-(I1II). (C)-(II). (D)-(I)
(3) (A)-(I). (B)-(ID). (C)-(I1I). (D)-(IV)
(4) (A)-(ID). (B)-(D). (C)«(IID). (D)-(IV)

(1) 1

(2) 2

(3) 3

(4) 4

&ieh 3R 39 faufed faeq & sgan fefafas 4 8 98 a9 ah @ 20

(1)  HY2H - ®i, & feru (2) wfasm - |
(3) HEY - H, % gdn (4) w0 -4, |
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=25413]
2[Option ID=25414]
3[Option ID=25415]
4[Option ID=25416]

Sl. No.5
QBID:1007380

Which of the following approximates the meaning of the phrase. ‘on edge™

(1) feeling excited (2) feeling nervous
(3) feeling relaxed (4) feeling angry
(1) 1

(2) 2

(3) 3

(4) 4




Hre J U @rE ° & |5 g 2y

(1) =gdrea 2) wars

(3) g ar=4 (4) 4 H =18 A4

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25417]
2[Option ID=25418]

3[Option ID=25419]
4[Option ID=25420]

Sl. No.6
QBID:1007381

Identify the correct indirect narration for the following sentence.
He said. “"Be quiet and hsten to my words.”

(1) He urged them and said be quiet and listen to words.
(2) He urged them to be quiet and histen to his words.
(3) He said they should be quiet and histen to his words.

(4) He said vou should be quiet and listen to my words.

(1) 1
(2) 2
3) 3
(4) 4

a7 & gudi wee &4 =2

1 == ()
@ @
(1) 1
(2) 2
3) 3
4) 4

1[Option ID=25421]
2[Option ID=25422]
3[Option ID=25423]
4[Option ID=25424]

Sl. No.7
QBID:1007382




From among the four options given. choose the one word substitute for the phrase. ‘one who
compiles dictionaries’

(1) Bibliophile (2) Evangelist

(3) Lexicographer (4) Lecturer

(1) 1

(2) 2

3) 3
(4) 4

frfafiga 4 & =9 a1 9= 98 37

(1)  39& 0% =21 21 (2) I UF €91 2
(3) 39 UF w7 2 (4) F® U 5 B
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25425]
2[Option ID=25426]
3[Option ID=25427]
4[Option ID=25428]

Sl. No.8
QBID:1007383

Identify the correct option to complete the sentence meaningfully,

While they cricket, hights ———— out.

(1) had watched. had gone (2) were watching, went
{3) had watched. went (4) have watched. have gone

(1) 1
(2) 2
(3) 3
(4) 4

“SAaTA BFT HaT &1 534 2 -

(1)  drhdat 8H1 (2) cEGE &I
(3)  wifaasref &M (4) HAgd BFI
1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=25429]
2[Option ID=25430]
3[Option ID=25431]
4[Option ID=25432]

Sl. No.9
QBID:1007384

Choose the correct phrase to complete the following sentence.
The new washing machine often goes ——————— order.

(1) run by (2) downin

(3) out of (4) even with

(1) 1
(2) 2
3) 3
(4) 4

Al T=E e U Ush 91 FiA B &1 Ush 9eg, Fard)

.,

1)\ ) i
(3)  Wiie (4) =i

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25433]
2[Option ID=25434]

3[Option ID=25435]
4[Option ID=25436]

Sl. No.10
QBID:1007385

Identify the active voice for the following sentence.

Should a lie be ever told by vou?

(1) Should a lie ever be told? (2) Should vou ever tell a lie?

(3) Should a lie be ever told? (4) Should a lie be ever told by evervone?
1) 1
(2) 2
(3) 3

(4) 4




E' e ;:_ -;.......:."'\._.;'_ , __:;_\,'::;I’
Frferfiad d | =i |1 wree a9+ $l 3w | 98 2

(1)  =ey (2) wed
(3)  Hed (4) H=2Y

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25437]
2[Option ID=25438]

3[Option ID=25439]
4[Option ID=25440]

Sl. No.11
QBID:1007386

Name of the first Satellite in the world to be launched into the space 1s :

(1) Apollo-I (2) Sputnik
(3) Galileo (4 Armstrong

1)1
(2) 2
3) 3
(4) 4

st=afier # waifya E9 arel yuq 39Uz %1 A 2 -

(1) 39 - 1 (2) oqati
(3)  Afefer (4) FEm
(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=25441]
2[Option ID=25442]
3[Option ID=25443]
4[Option ID=25444]

Sl. No.12
QBID:1007387




Which of the following 1s TRUE about G20?

(A)
(B)

(C)
(D)

India will host the First G20 Summit in 2023.

It accounts for more than 80 percent of global GDP, 75 per cent of global trade and 60
percent of the global population.

Piyvush Goyal 1z the G20 Sherpa from India.

The permanent secretarat of G20 1z 1n New York.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

11
(2) 2
3) 3
(4) 4

(A). (B) and (D) only
(A). (B) and (C) only
(A) and (C) only

(B). (C) and (D) only

Hfi-20 % & H fp=ifed w9 98 27

(A)
(B)

(C)
(D)

gid 99 2023 ° 9gefl 91 Sfi-20 e i = )

3H HYZ o Heild dfvdas Hehel "ie] Ieq1g &1 80 ufdsrd H iy, dfvgs samm w75 3k dfvas
FEE 60 wiaeE feem s 21

qRA | -20 91 Ty 1T 2|
Sfi-20 =1 el wf=ared =Ees 4 sEfem 2

= fou o faeredi d 9 Had ITgE I 61 T2 Hife

(1)
(2)
(3)
(4)
(1) 1
(2) 2

3) 3
(4) 4

Fad (A). (B) 3R (D)
*ad (4). (B) 311 (C)
Fae (A) 31T (C)

%4 (B), (C) 31 (D)

1[Option ID=25445]
2[Option ID=25446]
3[Option ID=25447]
4[Option ID=25448]




Sl. No.13
QBID:1007388

Who among the following 1s the first person of Indian origin to receive Booker Prize?

(1) Salman Rushdie (2) Jhumpa Lahir
(3) Arundhati Roy (4) V.S. Naipaul

(1) 1
(2) 2
(3) 3
(4) 4
YA gel 1 a7 Taell oAfad fo g qepn faen ¢
(1)  HeHH 198 (2) 3P enfad
(3)  rEydt 7 (4) 1., T
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25449]
2[Option ID=25450]

3[Option ID=25451]
4[Option ID=25452]

Sl. No.14
QBID:1007389

Which of the following are true regarding Indira Gandhi National Centre for the Arts
(IGNCA)?

(&) It 1s a premier govenment-funded arts organization in India.

(B) It 1s an autonomous 1nstitute under the Union Ministry of Culture.

(C) It was established to serve as a major resource centre for Indian arts. especially
written. oral and visual source materials.

(D) It was launched by Former Prime Minister Shrmati Indira Gandha.

Choose the correct answer from the options given below :

(1) (A). (B) and (D) only
(2) (A), (B) and (C) only
(3) (A). (B). (C) and (D) only
(4) (A) and (C) only
(1) 1
2) 2

3) 3
(4) 4




forrfeafiga © & 2fan e wfrg wen &g (318 S v Hi v) F AR G H9 G Fom wh 2y

(A) U2 WHA 61 Ush YR faedaiiyd Y el 5734 21

(B) 42 hira Hepfd Famerd o 31l saraeremEl e 2

(C) ¥z wRd™ wensil gean fafigd, difgs 3 g9 =@ wmieE &4 ge S9eE +g & F¥9 1
xerfa fepam wrm e

(D)  ¥2 d g A sfan el grn wRy fE T o

9 feu o faeredi O 9 98 39 & =349 ifau
(1) %= (A). (B) 37 (D)

(2)  %Fad (A). (B) 3 (C)

(3)  Fad (A). (B). (C) 31 (D)

(4)  FHad Q) 3 (C)

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25453]
2[Option ID=25454]

3[Option ID=25455]
4[Option ID=25456]

Sl. No.15
QBID:1007390

Which direction does a geostationary satellite revolve round the earth?

(1) East to West (2) West to East
(3) South to North (4) North to South

(1) 1
(2) 2
(3) 3
(4) 4

yeel & 9l @ wiE Y-rdfas I fea feen i 3R g o &7

(1) 9@ | ufv=q (2) fgem | qd
(3)  efem ¥ 3w (4) Il | efam
(1) 1
(2) 2
(3) 3

(4) 4




1[Option ID=25457]
2[Option ID=25458]
3[Option ID=25459]
4[Option ID=25460]

Sl. No.16
QBID:1007391

Who among P. Q, R. S and T 1s in the muddle while standing in a Iine? Q standing to the right
of T while S 1s between P and T. and Q 1s between T and R.

(1) T (2) P
(3) Q 4 R

(1) 1
(2) 2
(3) 3
(4) 4

P.Q.R.S3M T us ufth 4 @2 2| 35 9fF & 9 § H 27 T & <ifedl 3I8 Q @31 2, F&fh P 3 T
fdald SEINTANM R & =1 Q2

(1) i 5 7y P
(3) Q 4 R

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25461]
2[Option ID=25462]

3[Option ID=25463]
4[Option ID=25464]

Sl. No.17
QBID:1007392

A 1s 13% from Top. B 1= 18® from Bottom. When A and B change their position then A
becomes 21¢t from Top. What 1s the new position of B from bottom?

1) 29 (2) 28
3) 25 4) 26
(1)
(2)

(3)
(4)

A W N =

AFRHA 1A AMBIE A IS H WA T AN B 399§ A9 = decd ofd & dl A FHH 219
H T3 A6 21 B w99 [ i | Fn 2o e

(1) 29 (2) 28

(3) 25 (4) 26




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=25465]
2[Option ID=25466]

3[Option ID=25467]
4[Option ID=25468]

Sl. No.18
QBID:1007393

Eight friends - P, Q. R. 5. T, U, V and W are sitting around a circle facing the centre. V 1s
third to the right of @ and second to the left of R while @ 1s second to the left of T and
ummediate right of S. Also. U 1s between @ and T while P 1s not at the left of R. Who 1s exactly
at left of 5?

1 v (@ U
3 P 4 Q

11
(2) 2
(3) 3
(4) 4

P.Q R.S, T, U, V3t W 3112 fira vah g7 1 &g ol 370 d2 &0k o2 2| Q @ arfedt 3iR dfst wm w
V23l R a8 3R gal ¥ 9 2| Fafe T & a1 3 gl T9H W Q 7 311 S % 9% arfe 21
QM TH e d UR Tafs R% a1 3i P48 21 S & i 96l %4 27

1 v 2 U
3 P 4 Q

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25469]
2[Option ID=25470]

3[Option ID=25471]
4[Option ID=25472]

Sl. No.19
QBID:1007394

Seven students A, B. C. D, E, F and G take a series of tests. No two students get similar
marks. G always scores more than A. A always scores more than B. Each time either C scores
the highest and E gets the least, or alternatively D scores the highest and F or B scores the
least. If G 1s ranked fifth. which of these must be true?

(1) C 1s ranked second (2) D scores the highest

(3) E 1s ranked third (4) B is ranked fourth

(1) 1




(2) 2
3) 3
(4) 4

H1d B - A, B, C, D, E, F 3R G wanaii &l vsh-g@en ¢d 21 fo6di ofi 21 3 % 31 v s
21 G %1 Wi B A § i Fq 21 A F1 WHIE FH B H AF FeO 2| F AW A Al C I
% 9T HTdl 3 E FAdH He UTH A1 2 1 dfeqsh ®9 0 D I=dg e UH widl 2 HE F A1 B
A 3% UTH L 21 Afe G Hl FR H Tr=al wE faen 2 d fm § w5k w2

(1)  CH ¥H g 2| (2) D 3I=d9 3% U= FH 2l
(3)  E &1 A & 2 (4) Bl TE Hlen 2

(1)
(2)

(3)
(4)

A W N =

1[Option ID=25473]
2[Option ID=25474]
3[Option ID=25475]
4[Option ID=25476]

Sl. No.20
QBID:1007395

In a row of boys. Jayvant 1s 7% from the start and 11® from the end. In another row of boys.
Vikram 1s 10® from the start and 12® from the end. How many boys are there in both the
rows together?

(1) 40
(3) 38

(1)
(2)
(3)
(4)

A W N =

(2) 39
(4) 35

g hl Uk Uitk 0 T A H 7 d 3 3 H 11d =H W 21 a3l hl v gEfl dfe 0 fasn
HAREY H 109 3 394 4 124 TH W 2| g1 aferi 1 Fel foen & et fhad oz 82

(1) 40
(3) 38

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25477]
2[Option ID=25478]

3[Option ID=25479]
4[Option ID=25480]

(2) 39
(4 35

Sl. No.21




QBID:1007396

a 4 d£_9 3ap—bg

If === an =— . the valueof —/———— 1=
3 q 4bq —Tap
11

(1) “1a (2)

] 12

(3) e (4)
(1) 1
(2) 2
(3) 3
(4) 4

afe 22 s P9 & 3aP-ba oo g

b 3 g 14 4bq —Tap
11
(1) g7 (2)
12

(3) ﬁ (4)
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=25481]
2[Option ID=25482]
3[Option ID=25483]
4[Option ID=25484]

11
14

12
13

11
14

12
13

Sl. No.22
QBID:1007397

Three spheres of radii 3 cm. 4 cm and 5 cm are melted to form a new sphere. Then, the radius

of the new sphere 1s

(1) 5 cm (2)
(3) Tem (4)
(1) 1
(2) 2
(3) 3

(4) 4

6 cm

12 em




3 @i, 4 Tt 3w 5 Il fasn % Hfim Te ve 9@ e o= g faefim TR s 2 |, 93 e 6
o= @ Brefi 7

(1) 5 & @) 6 ¥
(3) 7 g (4) 12 G

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25485]
2[Option ID=25486]

3[Option ID=25487]
4[Option ID=25488]

Sl. No.23
QBID:1007398

If the numerator of a fraction be increased by 15% and its denominator be diminished by 8%.

. . 1 .. .
the value of the fraction 1s ﬁ . then the original fraction 1s

(1) 3/4 (2) 4/3
(3) 37 (4) 3/8

(1) 1
(2) 2
(3) 3
(4) 4

- > - = . & 2 = . = . 15 S =
afe forefl firar & 3991 H1 15% =1 fean 3 2 3i 21 &1 8% = fear @ 2, fug =1 v e HEIRE
firgt 1 Bt 7

(1) 34 2) 4/3
(3)  8/7 4) 3/8

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25489]
2[Option ID=25490]

3[Option ID=25491]
4[Option ID=25492]

Sl. No.24
QBID:1007399




13 chairs and 5 tables were bought for ¥ 8280. If the average cost of a table be ¥ 1227, then
the average cost of a chair 1s

(1) T 185 (2. T 176
(3) < 165 (4) T 145

(1) 1
(2) 2
3) 3
(4) 4

13 Tl 3R 5 U5 T 8280 § wWiid 3| AR S WA F it gem T 1227 A, A1 UH FH 1 3iEA
Yo 1 BRI 7

(1) € 185 2) T 175
(3) T 165 4 I 145

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=25493]
2[Option ID=25494]

3[Option ID=25495]
4[Option ID=25496]

Sl. No.25
QBID:1007400

The selling price of 30 items is equal to the purchase price of 25 items. then the profit or loss
percent 1s

(1) 16% %. Loss (2) 16% %. Profit
(3) 20%. Loss (4) 20%. Profit

(1) 1
(2) 2
(3) 3
(4) 4

30 axd3i o1 faea ged 25 a3l & %9 Ged & S 2| dl o 31U 21 a1 ufderd @ g e

(1) 16% %, i ) 16% %, el
(3)  20%, &M (4) 20%, &Y
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=25497]
2[Option ID=25498]
3[Option ID=25499]
4[Option ID=25500]

Sl. No.26

QBID:1045001

Asymmetrical features of federalism in India include :

onw

Fifth Schedule
Sixth Schedule
Article 371 A
Article 371 G

Choose the correct answer from the options given below :

(1
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Only A,Band C
Only B, Cand D
ABCandD

Only A,Band D

HRT & Fuarg fr yEAfaa [dvant & affa §

oSN w p

arerdt STt
B St

3eTe0e 371 T
3eTedhe 37150

A BT v [eedl # & 98 3ca #1994 HISAT

(1

(4)

(1) 1
(2) 2
(3) 3
(4) 4

Fael A, B3R C
#dd B,C3IR D
A,B,C3R D

#ded A, B3R D

1[Option ID=26401]
2[Option ID=26402]




3[Option ID=26403]
4[Option ID=26404]

Sl. No.27

QBID:1045002

Which of the Constitutional provisions doesn’t/don’t come within the legislative
jurisdiction of the Legislature of a State?

moO®P >

Matters relating to clause 3 of article 16
Matters relating to article 32
Matters relating to article 33
Matters relating to article 34
Matters relating to clause 4 of article 16

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Only A,B,Cand D
Only B, C, Dand E
Only A,C,Dand E
Only A,B,Dand E

Fia-a1 gaufas sraue Uow TuRe & Qurh sfUeres 7 76 3 & 7

m B a = p

HeTede-16 % Ws-3 § wefda fawe
FTae-32 ¥ Haftd fava
IAe0e-33 ¥ waftd fawg
3Te0E-34 ¥ wafed fawy

ITTiE-16 % Ws-4 T Hatog faug

=

A v v Beedt # & 98 3o F1 T4 fifGv

(1)

(4)
(1) 1
(2) 2
(3) 3
(4) 4

Fad A,B,C3R D
Fae B,C, D3R E
Fad A, C, D3N E
Fad A B, DIRE

1[Option ID=26405]
2[Option ID=26406]
3[Option ID=26407]
4[Option ID=26408]




Sl. No.28
QBID:1045003

Reservation of seats for the Scheduled Castes and Scheduled Tribes in the House of
the People 1s provided under which article of the Constitution?

(1) Article 16(4)
(2) Article 243 D
(3) Article 243 T
(4) Article 334

(1) 1

(2) 2

(3) 3

(4) 4

ol |81 # Iqqiad Sfd AR qiad Seeria & o d@et & 3Rer #
AT HiaU & R 3eeoe A fhar a2
(1) HATOG 16(4)
(2) oG 2433
(3) 3Te0q 243 €0
(4) HATOG 334
(1) 1
(2) 2

3) 3
(4) 4

1[Option ID=26409]
2[Option ID=26410]
3[Option ID=26411]
4[Option ID=26412]

Sl. No.29
QBID:1045004

Which of the following articles were not inserted by the Forty-second Constitutional
Amendment Act, 19767

A Article 21A
B. Article 31A
C. Article 39A
D. Article 43A
E. Article 48A

Choose the correct answer from the options given below :

(1) Only Aand B

(2) Only B and C

(3) Only Cand D

(4) Only D and E
(1) 1

(2) 2




(3) 3
(4) 4

frafaf@a # & fFa sepeadl = saeed w@faue sfafaas, 1976 aro
anfAe et fFar = g 2

A HTe0E 21
B. 3eoe 31®
C. 3eTese 39%
D. HTOE 43
E. 3TTSe 48

e fTv av Beedl # & 98 3caY 1 TIa ffev

(1) hao AN B
(2) Faed B3R C
(3) Faa C3HR D
(4) Faa DI E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26413]
2[Option ID=26414]
3[Option ID=26415]
4[Option ID=26416]

Sl. No.30
QBID:1045005

Who in the Constituent Assembly, said that ‘the Doctrine of Independence was not to
be raised to the level of a dogma so as to enable the judiciary to function as a kind of
Super Legislature or Super Executive’?

(1) N. Madhava Rao
(2) K.M. Munshi
(3) N.G. Ayyangar
(4) A K. Ayyar

(1) 1

(2) 2

(3) 3

(4) 4




Thas 7o & free w1 o1 F wEaEar F fAEE ® geu@ar F T aw
Tt 87 Far = ofgr aifs =araofesT 3347 3e77 & & ag 4
e o7 9 FEOeFT F T F T FT TF 2

(1) T, FATET 9
(2) F.0H. 72l
(3) TS 3T
(4) T.%. 3T
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=26417]
2[Option ID=26418]
3[Option ID=26419]
4[Option ID=26420]

Sl. No.31
QBID:1045006

The Parliament of India consists of :

A The House of the People
B. The Council of States

C. The President

D. The Prime Minister

E The Speaker

Choose the correct answer from the options given below :

(1) Only A, Band C
(2) Only B, Cand D
(3) Only C,Dand E
(4) Only A, Band E

(1) 1

(2) 2

(3) 3

(4) 4




L - T

(1

(4)

(1) 1
(2) 2
(3) 3
(4) 4

9T fr Tug 7 wfAa € ¢

GG L
g THT

gafd
TETTHAT
SIhEdT ETeE

AT BT 91T J{dedl # F H8l 3l &1 934 HIfAT

Faa A B3R C
Fad B,C3IX D
%ad C,D3IN E
Fad A, B3R E

1[Option ID=26421]
2[Option ID=26422]
3[Option ID=26423]
4[Option ID=26424]

Sl. No.32

oNnwp

E.

(1)
(2)
3)
(4)

(1) 1
(2) 2
(3) 3

QBID:1045007
Which of the following is/are correct ?

Article 143 provides for the power of President to consult Supreme Court.
The opinion of the Supreme Court is not binding.

The Supreme Court is not bound to give opinion on the subject so referred.
The Supreme Court would respectfully decline to answer with reference

if 1t 1s improper. inadvisable and undesirable.

The Supreme Court is bound to give opinion.

Choose the most appropriate answer from the options given below :

Only A. Band C
Only B. C and D
OnlyB.C.Dand E
OnlyA.B.C.D




(4) 4

FeT 7 ¥ Fi9-F9 ¥ a7 wér ¢

A HATOE 143 H Togdld H 3=aaH AT ¥ TURY H H H SR
et oRaT T g |

B.  3=9 =umarerd FT AT TSN J6T €
FI=IdH O W YR g 99T 9T A9 999 i F fow arew
Tl 7 |

D.  seogw =amEmed AETES. 39 9T W 3caW & ¥ SR FT Tl
g. If¢ 38 Ig =g, e 3R Eoadaa & |
E. 3=9af =O1Oad HUAT Jd T i & o7 aneg g |
e e 9T RBFedl # @ §aW 39GFT Il FH F94A HIAT
(1) shael A.BHR C
(2) %34 B.CHR D
(3) +9d B.C.D3IR E
(4) +9d A.B.CIHR D

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26425]
2[Option ID=26426]
3[Option ID=26427]
4[Option ID=26428]

Sl. No.33
QBID:1045008

Parliament may by law :

extend the jurisdiction of a High Court

establish a common High Court for two or more States
constitute a High Court for a Union Territory

establish administrative tribunal for each State

appoint judges of the High Courts

MO0

Choose the most appropriate answer from the options given below :

(1) Only A, B, C and D
(2) Only B, C, Dand E
(3) Only A, B, Dand E

(4) Only A,C,Dand E




(1) 1
(2) 2
(3) 3
(4) 4

faftr garr goe ¢

A. 3%9 O F HUFR & & [Fean FT a1

B. & a1 38« usal § fav v 3w ~aew wfa < godr §
C. €U s 87 & AU 3va ~aaea & 764 H Tl ¢ |

D. 9% Usd & o gemafs sfeor fr uraar X gt & |
E. 359 SOt & warrdvedd & gfEa s oasd €

A T aIw Fehedl A F FEd ITYFA IR F 94 AT
(1) Fad A,B,C3R D
(2) Fad B,C,D3N E
(3) Fad A.B,DIHR E
(4) Fad A C.DIHRE

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26429]
2[Option ID=26430]

3[Option ID=26431]
4[Option ID=26432]

Sl. No.34
QBID:1045009

Which Constitutional Amendment lowered the voting age from 21 years to 18 years 7

(1) 58™ Amendment Act, 1987
) 61" Amendment Act, 1988
(3) 64™ Amendment Act, 1990
(4) 65" Amendment Act, 1990

(1) 1

(2) 2

(3) 3

(4) 4




fre Sfeue Feus @RT AAE #T A #2199 F FF 5 18TW H
T

(1) sear Femae Hfafaas. 1087

(2 61aT TeuA AT, 1988

(3) 64ar Teraa fafaas. 1990

(4) 65aT T FTHTH. 1990

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26433]
2[Option ID=26434]
3[Option ID=26435]
4[Option ID=26436]

Sl. No.35
QBID:1045010

The Constitution (Forty-Second Amendment) Act, 1976 added three words to the
Preamble of the Constitution of India.

A, Socialist
B. Secular
= Integrity
D. Unity

E. Federal

Choose the correct answer from the options given below :

(1) Only A, B and C
2) Only B, C and D
(3) Only C, D and E
(4) Only A, C and E

(1) 1

(2) 2

(3) 3

(4) 4




daue & (Fareiad e dfafATa, 1976 garT sRa & @fdus
graagar # fi e afAe fFe v |

A. gHATSaET
B. qyfaRder
E: @usar
D. AT

E. 213}

A fer 7T Adedt # & H@Er 3ol & gIA AU ¢
(1) Fad A, B3R C
(2) #ad B,C3R D
(3) Faddd C,DIAR E
(4) Fad A, CIHR E

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26437]
2[Option ID=26438]

3[Option ID=26439]
4[Option ID=26440]

Sl. No.36
QBID:1045011

Which was the first reported case of Public Interest Litigation (PIL) seeking relief for
the under trial prisoners 1in jails ?

(1) Anil Yadav Vs State of Bihar. 1981
(2) Hussainara Khatoon Vs State of Bihar. 1979
(3) Khatr1 Vs State of Bihar. 1981
(4) Veena Sethi Vs State of Bihar, 1982
1) 1
2) 2
(3) 3

(4) 4




éﬂ?ﬁm%ﬁﬁﬁmmﬂw%@mﬁmmﬁwww
AHT FIF-AT & 2

(1) e geg gH 9N U=, 1981
2) GHART Wi 9= f9ER 57, 1979
(3) @ g9 R s, 1981
(4) T a8 sarH fEeR T, 1982

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26441]
2[Option ID=26442]
3[Option ID=26443]
4[Option ID=26444]

Sl. No.37
QBID:1045012

(iven below are two statements : one 15 labelled as Assertion 4 and the other 15
labelled as Reason .

Assertion A

Power of judicial review is considered as part of the basic structure of the
Constitution.

Reason R :

The Supreme Court is endowed with the power of judicial review to ensure judicial
independence and protection of rights.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 15 not the correct explanation of A
(3) A 1s correct but R is not correct
(4) A 15 not correct but R 1s correct

(1) 1

(2) 2

(3) 3

(4) 4




A @ ¥ € o A (4ssertion A) & T A maagta Akt
3+ SR (Reason R) o T H |

SHRFYT A :
=l FAET & HSR F GfTUE A FIEAT HOART AT T E |
FRVTR :

s Taaaar i 3OeRT & 8 & 6 ITags e & SaEae
e i 3R foar = § )

mm*mﬁ,%ﬁﬂmwfrﬁmﬂgﬂﬂﬁ?ﬂ
TgeT HIfFT :

(1 A 3R REET T § 3R R AH T e

(2) A 3T R e § AfFa R, A S @E carEar A8 ¢
3) A TEr &, ofheT REET 78T &

4) AT €T ¢ AfFT REET

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26445]
2[Option ID=26446]

3[Option ID=26447]
4[Option ID=26448]

Sl. No.38
QBID:1045013




Given below are two statements : one is labelled as Asserfion 4 and the other is
labelled as Reason R.

Assertion A ;

The powers within the Supervisory Jurisdiction of the High Courts are both
administrative and judicial in nature.

Reason R :

Article 227(1) gives the High Courts power of Superintendence over all courts and
tribunals within their territorial and constitutional jurisdiction.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1)
(2)
(3)
(4)
1)1
(2) 2
3) 3
(4) 4

Both A and R are correct and R is the correct explanation of A
Both A and R are correct but R 1s not the correct explanation of A
A 15 correct but R 1s not correct

A 15 not correct but R 1s correct

A & FUA ¢ @ UF HHFUT AF ¥0 A Af@ad § O gET 366 FROT RS

T H |

HBFEYT A :

= AT F daE SEfRER w1 A, geraiEE R S Gt gt

el

HNOT R :

IeTeg 227 (1), 359 =arETEaT H 396 & AR wdufas SR &
rer, @t FaraTerdt 3R sfEeelt & Fo aefaror & JRFR vee A ¢ |

mm$mﬁ,mf&amﬁwﬁﬁ#m3ﬂgﬂﬂmﬂ
TIT ffaT -

(1)

AR REET HE € 3R R AR | e §
AR REET TEr € T R, A Y 9 sOrET A8 §
A TEr & afehed R WET AGT &

A HEY =8l g, dfheT REST &




(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26449]
2[Option ID=26450]
3[Option ID=26451]
4[Option ID=26452]

Sl. No.39

QBID:1045014

Which Fundamental Rights are available to all persons?

moo®

Protection in respect of conviction for offences (Article 20)
Protection of life and personal liberty (Article 21)

Protection against arrest and detention in certain cases (Article 22)
Freedom of religion (Article 25 - 28)

Prohibition of discrimination on grounds of religion, race, caste or place of
birth (Article 15)

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

OnlyB,Cand D
Only A, Band C
Only B,C,Dand E
Only A,B,Cand D




Fia-wla @ #Alfes 3OFR T de Fr s7asr § 2

A et gq Awfafe & afa @weror (3eese 20)
Shtaet 31 cafFdera Facaar 1 TeT (3efeae 21)
C. #faug aAmel # FREART 3R AoRadr # %g wReTon (3rTese

22

D. e &1 wadadr (3iede 25 - 28)
E.  eny g9, onfa, 3k ood saer & 3R o Aoy & ey
(3rTTae 15)

A T 71v J{aedl # § ¥8 3ca¥ FT 9T ST

(1)

(4)

1)1
(2) 2
(3) 3
(4) 4

Fad B,C3HR D
dd A, B3R C
%ad B,C,D3R E
Fad A, B, C3HR D

1[Option ID=26453]
2[Option ID=26454]
3[Option ID=26455]
4[Option ID=26456]

Sl. No.40

QBID:1045015

Which Constitutional Amendment ended the Parts A, B and C categories of States and
implemented the States Reorganisation Scheme?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
3) 3
(4) 4

The Constitution (Fourth Amendment) Act. 1955
The Constitution (Fifth Amendment) Act, 1955
The Constitution (Sixth Amendment) Act. 1956
The Constitution (Seventh Amendment) Act. 1956




fra wawAs avs garr &, @ 3K o1 Aok & At @ gArea R
HR T g Al 1 fharfead B a2

(1

(4)

1)1
(2) 2
(3) 3
(4) 4

aﬁaﬁa? (dter waeE) ifRfFEs, 1955
(arerar |@aer) srfafaTs, 1955
(Ter "@rwe) HfAfEEA, 1956
(\Taar weee) fAETa, 1956

%%%

1[Option ID=26457]
2[Option ID=26458]
3[Option ID=26459]
4[Option ID=26460]

Sl. No.41

QBID:1045016

Which Constitutional Amendment abolished the privy purses and privileges of former
rulers of Princely States?

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

The Constitution (Twenty-fourth Amendment) Act, 1971
The Constitution (Twenty-fifth Amendment) Act, 1971
The Constitution (Twenty-sixth Amendment) Act, 1971
The Constitution (Twenty-seventh Amendment) Act, 1971

fha wauTasS FYe gan Ramadr U=t & qd arEr & e seat 3
IRt 1 warea far amr 2

(1)
(2)
(3)
(4)
(1) 1
2) 2
3) 3
(4) 4

Fauiae (didwar gerus) Ffafaa, 1971
FauTiae (qimal weivee) FafEaa, 1971
gauwfae (Sedraar @ays) dfafaTa, 1971
TaenfAS (Tearsaar @etE) sfafETe, 1971

1[Option ID=26461]
2[Option ID=26462]
3[Option ID=26463]
4[Option ID=26464]

Sl. No.42

QBID:1045017




Which powers and responsibilities are not endowed by the Constitution to the
Panchayats 7

(1)
(2)

(3)
(4)

(1)
(2)
(3)
(4)

A W N =

The preparation of plans for economic development
The implementation of schemes for economic development and social

Justice

Agriculture, including agricultural extension
Regulation of slaughter homes and tanneries

TfaeTeT ZaRT 99 al i FiF-T AFR Scaielded S gl [T T § 2

(1) W Ty 3R gEfes = ¥ T I 397 3=
(2) wids e 3k gafos =g & forr asast 1 raeaaa
FIAT
(3) T, Fuw TR afm
(4) qEsEE! 3’ TA etuarear & e
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26465]
2[Option ID=26466]
3[Option ID=26467]
4[Option ID=26468]
Sl. No.43

QBID:1045018




Given below are two statements : one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion 4 :

Ministers shall hold office during the pleasure of the President.

Reason R :

The Couneil of Ministers shall be collectively responsible to the House of the People.

In the light of the above statements. choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 1s correct but R 1s not correct
(4) A 1s not correct but R 1s correct

(1) 1

(2) 2

3) 3

(4) 4

A @ FUa E U af¥EET AF w9 #F AT & a7 gE0 35 FRUTRE
T OH |

HIAFYA A :
Tsgafa & JEETIT A, H9S 9g UROT F3 |
FRUT R :

N ARG ok §AT F 9id HIHfeS § § Scalerdr gl § |

3T FAS F 3w J AR fGr v feedt # ¥ w9 3ugFd sea) F
TIT FIfST

(1) AT R TEr E AT R AFH T e €

(2) A 3T R wET € T R A TET carEmm AT ©
(3) A TET & e REET AT &

(4) ATEr 7gr & haT RTEET &

(1) 1
(2) 2




3) 3
(4) 4

1[Option ID=26469]
2[Option ID=26470]
3[Option ID=26471]
4[Option ID=26472]

Sl. No.44
QBID:1045019

Which of the following 1s incorrect about a Money Bill?

(1 The bill deals with all or any provisions under article 110 of the
Constitution.
(2) The Money Bill has to be so certified by the Speaker of the House of the
People.
(3) The Money Bill has to be introduced in the House of the People first.
(4) Both the Houses of the Parliament enjoy equal powers with respect to a
Money Bill.
(1) 1
(2) 2
(3) 3
(4) 4

TR F oy s AR s o s oram e g 2

(1) fordores. dfeure % Hqede-110 % 3aea @l a1 Rl wraemaT
¥ Haa ¢ |
(2) U faUas FI @i W F TS gEN YAUIT R ST
g g |
(3) v T F uge dF T H ST [HIT AT E
(4) U TUTF F TIY H THS & Al TeAr S THAA ATUFR
I i
(1)
(2)

(3)
(4)

A W N =

1[Option ID=26473]
2[Option ID=26474]
3[Option ID=26475]
4[Option ID=26476]

Sl. No.45
QBID:1045020

Who explains party systems in India in terms of democratisation and decay?

(1) K.C. Suri
(2) YogendraYadav
(3) James Manor

(4) Morris Jones




(1) 1
(2) 2
(3) 3
(4) 4

wlendarRoT I Fuea & e & sg & ot vueh F1 avle fraa fRar

(1) .. gl
(2) Ot aeg
(3) SFH HAR
(4) afta e

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26477]
2[Option ID=26478]
3[Option ID=26479]
4[Option ID=26480]

Sl. No.46
QBID:1045021

Which of the following statements 1s/are correct ?

Some nations lack states

Some states lack national identity

Some nations occupy more than one state
Some states contain more than one nation

SOw»

Choose the correct answer from the options given below :

(1) Only A

(2) Only B

(3) Only C and D

(4) Only A, B, Cand D
(1) 1
(2) 2
(3) 3

(4) 4




Afofaa & 8 sa-aslad s adr & 2

FT gt H T F7 379709 8 |

F Tsdl & AT qgAld H 3G ¢ |
7o TS # T A i wa

T Tl H T A IS g

2 0 = e

AT Gr av fGwedt F & 98 3caR F 97 ffFw
(1) Fad A

(2) Fad B

(3) Faa C3HRX D

4) Fad A B C3HR D

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26481]
2[Option ID=26482]

3[Option ID=26483]
4[Option ID=26484]

Sl. No.47
QBID:1045022

Who. amongst the following political philosophers can be associated with the idea of
"Luck egalitarianism’ ?

(1) John Rawls
(2) Cohen
(3) Robert Nozick
(4) Ronald Dworkin
(1) 1
(2) 2
(3) 3

(4) 4




Trfafaa ueeifas gt & @ g “gaer gaaee” fr Saru @
ST ST TR § 7

(1) St el
2) Flgd
) Jee Ao
(4) UdATes Al
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=26485]
2[Option ID=26486]
3[Option ID=26487]
4[Option ID=26488]

Sl. No.48
QBID:1045023

Given below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A

Problems of global environmental change pose serious challenges to democratic
political systems, as they currently exist.

Reason R :

We need a thicker conception of citizenship, like environmental citizenship that
obligates citizens to inculcate environmentally sensitive behaviour.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s not the correct explanation of A
(3) A 15 correct but R is not correct
(4) A 15 not correct but R 1s correct

(1) 1

(2) 2

3) 3

(4) 4




AR oY U9 § ;T HWFYS AF w0 A fAf@a § a gEU 38F FROT RF
T H |

HBFYT A :

af¥as Tatarely oRaaa & g7, 3= adA e W59 A, diFdiiEs
Tshfaes gonfaat & forw sisiy gifaar scoea T W@ 8 |

HNT R :

&4 garaei AnTiEar S Aefiisar it 7gaT IEaUReT fr JGTFHar g, S
AR # qATE0T §a8r U9 F gad Y |

IRFT FYA F el A, A B av @l # 8§ Fa@ 39gFd 3o} #7
a9 HifFT :

(h AR rREEr @ € 3R R AFH wE e

(2) AT REET TET & AfFa R, A & TEY curET A6 &
() A TEr 8, Afhel R WET 76T &

(4) A TEr 18T AfFaT RTE &

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26489]
2[Option ID=26490]

3[Option ID=26491]
4[Option ID=26492]

Sl. No.49
QBID:1045024

The author of 'Essay on Toleration' is

(1) Locke
(2) Rousseau
(3) J1.5. Mill
(4) Kant
1) 1

(2) 2

(3) 3

(4) 4




‘TEH A STead F @+ Fla & 2

(1) CIED
(2) w4
(3) 0. A
(4) FI<
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=26493]
2[Option ID=26494]
3[Option ID=26495]
4[Option ID=26496]

SlI. No.50
QBID:1045025

Who among the following theorists is known for his work on "The theory of resources
equality’ 7

(1) Amartya Sen
(2) Ronald Dworkin
(3) Jagdish Bhagwati
(4) Abhijit Banerjee
(1) 1
(2) 2
(3) 3
(4) 4

frfof@a # ¥ @i a1 AiaeneT W # GAEdEE Feid (The
theory of resources equality) 9¥ 39 &4 & fow ofag & 2

(n WA

(2) UeATes FaTlehat

3) ST HTAAT

4 HAST Tt

(1) 1
(2 2
(3) 3
(4) 4
1[Option ID=26497]
2[Option ID=26498]

3[Option ID=26499]
4[Option ID=26500]

Sl. No.51
QBID:1045026




Who described 'Democracy as the tyranny of the majority” 7

(1) Tocqueville
(2) David Held
(3) Habermas
(4) Carole Pateman
(1) 1
(2) 2
3) 3
(4) 4

WWWW'@%W%WﬁW?

(1) [AICEE]
(2) B EER T
3) g
(4) Fe e
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26501]
2[Option ID=26502]

3[Option ID=26503]
4[Option ID=26504]

Sl. No.52
QBID:1045027

Given below are two statements :

Statement 1 :

Thin multiculturalism views some cultural differences as occurring between liberals

and non-liberals.

Statement IT :

Thick multiculturalism views all cultural differences as disagreements between groups

that already agree on liberal values.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement 1 15 correct but Statement 11 is incorrect
(4) Statement I 15 incorrect but Statement 11 1s correct
(1) 1
(2) 2

3) 3




(4) 4

A= g Fug Ru AT &

FYA I :
EH GgUTpiaare, Ieraledl AR N-3eraifeal F i To Fiepias Tt
&G ¢ |

FHEe 11 :
g IgHERaae. T AEplas A H. 37 FAE F 99 AAdel F w9 A
¢Ed B3 98 ¥ 3R H{edl W HEAT ¢ |

IRFT FUA F Hes A=A T aw FFed § ¥ 59 399+ 3o H+
T HIAT :

(1) FUF 13T Fu9 13T Ter &

(2) FU7 13 Faa 13T ToT &
(3) FUF 1TE g, oifshed HUF 1 ITed &
(4) FAF 1T & Aehed FUT I HET &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26505]
2[Option ID=26506]
3[Option ID=26507]
4[Option ID=26508]

Sl. No.53
QBID:1045028

Match List I with List I1 :

List I List 1T
A Simone de Beauvoir L The Female Eunuch
B. Betty Friedan I1. Justice, Gender and the Family
C. Germaine Greer 1. The Feminine Mystique
D. 5. Moller Okin V. The Second Sex

Choose the correct answer from the options given below :

(1) A-IV, B-III, C-11, D-I
(2) A-1, B-III, C-IV, D-II
(3) A-IL, B-1V, C-1, D-III
(4) A-IV, B-II, C-1, D-II

(1) 1




(2) 2
3) 3
(4) 4

T 1& wry = 1 F Ao Hifew

T 1 T 1
A. R g @193 . fo frver g F
B. agr e In. SAfEew, 5= s & fAe
C. s A I, wafEe A

D. TH. Ao e v fe a9s a9

A BT 717 J[edl # § T80 3cal & 9394 HIaAT

(1) A-IV, B-II1, C-I1, D-1
(2) A-1, B-111, C-1V, D-II
(3) A-11. B-1V, C-I, D-11
(4) A-IV_B-III, C-1, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26509]
2[Option ID=26510]
3[Option ID=26511]
4[Option ID=26512]

Sl. No.54
QBID:1045029




Given below are two statements :
Statement [ :

Liberal feminists argue for laws that give women formal equality of opportunity and
freedom from discrimination.

Statement 11 ;

For radical feminists, the prevalence of violence against women is part and parcel of
sex-inequality.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I 1s correct but Statement 11 1s incorrect
(4) Statement I 15 incorrect but Statement 11 is correct
(1) 1
(2) 2
3) 3
(4) 4
A g ®ya fgu e §
FEfe I :

3ERATET AEIE, 38 FelT & 98T H a& ad § S A @ e fi
sttt gAEar 3R digee @ wadEar WeE T |

FT I

A IRadeard At & e, & wfa Far i sateufa, dla
HEHATSAT HT AT E |

Fﬂﬁﬁﬁﬁﬂﬁ%ﬂﬁ%ﬁﬁmmmﬂﬁﬂ:

(1) gt wue 13 nwdr &
(2) gt ®ye 13K Naoa §

(3) YA 1 FE § Teq HYA 113T60d &
(4) FUA 17T0d & Weq YA 1T §
(1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=26513]
2[Option ID=26514]
3[Option ID=26515]
4[Option ID=26516]

Sl. No.55
QBID:1045030

Which of the following is/are correct explanation of Ronald Dworkin's idea of 'Rights
as Trumps' ?

A Norms of the society take precedence over basic individual rights.
B Interests of the whole community can trump individual rights.

Basic rights of individuals take moral and legal precedence over other
norms.

Choose the correct answer from the options given below :

(1) Only A
(2) Only B
(3) Only C
(4) A,Band C

(1) 1

(2) 2

(3) 3

(4) 4

ffaf@a & ¥ Fia-0 sarEyearEat Adles gaifehd @ TScH T gordd’
#r fFERURT % AR w6 § ?

A gAe ¥ s, afFaat & A et @ s d

B.  gryol gae & fod, safFaera st & wafaR g @%a & |
C. =afFmdl & Ho 3UsR, Afds 3R Afts w9 § 37 A-gaet &
FRE |

T Rr a1iv Bsedl # § 98 3o} 1 T34 fifav

(1) Fad A
(2) &ad B
(3) Fad C
(4) A B3R C
(1) 1
(2) 2




(4) 4

1[Option ID=26517]
2[Option ID=26518]
3[Option ID=26519]
4[Option ID=26520]

Sl. No.56
QBID:1045031

Given below are two statements ;
Statement [ :

Jeremy Bentham, the founder of utilitarianism, ridiculed natural rights as a pernicious
fiction.

Statement 1T :
Human rights are believed to have been derived from the idea of natural law.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I 15 correct but Statement 11 1s incorrect
(4) Statement 1 is incorrect but Statement 11 is correct

1) 1

(2) 2

3) 3

(4) 4

A & wue ffu e §

HEeT [ :

IATAERE & Fod AT JUA, Wpids ATURRT H, HAgde Fedal & &
# fatepa A€ |

HUA Il :
AT ST & 7 AT 3fteRt #, wefae FEE fr Tarurr & foar g

S At # A A R e Rt # 7@ e
(M et & 1317 nwgr &
(2) art Fu 1301 1wE 76 §
3) FUF 1 TE § e U 1L TE AGT §
) YA [ HE AET ¢ W HUaA 1HE &

(1) 1
2) 2




3) 3
(4) 4

1[Option ID=26521]
2[Option ID=26522]
3[Option ID=26523]
4[Option ID=26524]

Sl. No.57
QBID:1045032

"If your aim 1s liberty in democracy, then you must teach people the art of being free
and of governing themselves." Who gave this statement 7

(1) Bertrand Russell
(2) Aldous Huxley
(3) Fichte
(4) David Held

(1) 1

(2) 2

3) 3

(4) 4

“gfg diehdT A HTIHT 323T TaIIdT &, af TR |9l i FTaad &= 3K
4 & fAd St b For @EEt TR Y I8 gedey Faa T g o

(1) s WA
(2) Ucsd gadel
(3) fihehc
(4) EEER
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26525]
2[Option ID=26526]
3[Option ID=26527]
4[Option ID=26528]

Sl. No.58
QBID:1045033




Which of the following constitutes the core principles of Utilitarianism' 7

Concept of utility

Greatest good of the greatest number

Laissez-Faire

Maximum happiness of maximum number of people

oW

Choose the correct answer from the options given below :

(1) Only A and B
(2) OnlyA. Band C
(3) OunlyA.B.Cand D
(4) Only A. Band D
(1) 1
(2) 2
(3) 3
(4) 4

faefaf@a # ¥ Fia-8 e sqafdanEre & yqa Bea € 2

A. 39T Fr FTUROT

B. HOFTH §EIT F HUFIA g
-t

D. HiOFaA S@Faar F1 JfoFda g

drr T 1T Treat # ¥ UET 3o T 994 HifSv
(1) Fad AXT B
(2) Haa A. B3R C
(3) FaT A.B.CHR D
(4) %deT A.BIAR D

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26529]
2[Option ID=26530]

3[Option ID=26531]
4[Option ID=26532]

Sl. No.59
QBID:1045034




Who among the following defined "Citizenship as full and equal membership in
Political Community"” ?

(1) Derek Heater
(2) T.H. Marshall
(3) Will Kymlicka
(4) Iris Young

(1) 1

(2) 2

3) 3

(4) 4

fFrfaf@a # & frae ARl #I Tsides g # o 3R A=
TEEIar & &9 & gisnfg BFar g 2

(1) NF e

(2) o, A

(3) IECIETIGED]

(4) ymafta gar
(1)
(2)

(3)
(4)

A W N =

1[Option ID=26533]
2[Option ID=26534]
3[Option ID=26535]
4[Option ID=26536]

Sl. No.60
QBID:1045035

Who among the following advocates the 'Entitlement theory of Justice’ 7

(1) Kant
(2) Michael Sandel
(3) Robert Nozick
(4) Michael Walzer
(1) 1
(2) 2
3) 3

(4) 4




eafofag & ¥ e =g § g=ar Qg & wioofea Far g 2

(1) FleT
2) Aol ol
(3) qae AfTF
(4) ASHd Toall
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26537]
2[Option ID=26538]
3[Option ID=26539]
4[Option ID=26540]

Sl. No.61
QBID:1045036

John Rawls 18

(1) A Utilitarian
(2) A Social Contractarian
(3) A Perfectionist
(4) A Marxist
(1) 1
(2) 2
(3) 3
(4) 4
Siter Iew &
(1) ELDICICICA]

(2) LIS R I E G

(3) EWGIEIC
(4) ATFEaTer
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26541]
2[Option ID=26542]

3[Option ID=26543]
4[Option ID=26544]

Sl. No.62
QBID:1045037




The word "ideology' was coined by

(1) de Tracy

(2) Karl Marx

(3) Fukuyama

(4) D. Bell

1) 1

(2) 2

3) 3

(4) 4

TaaRuRT g #r IguRon Faa & g 2
(1 e
(2) FTel AT
(3) F R
(4) ENCE

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26545]
2[Option ID=26546]
3[Option ID=26547]
4[Option ID=26548]

Sl. No.63
QBID:1045038

The author of 'Wicomachean Ethics' is

(1) Plato
(2) Aristotle
(3) Socrates
(4) Hobbes

(1) 1

(2) 2

3) 3

(4) 4

Tanfraa sRew & ows Fla ¢ 2
(1) oler
(2) ITE
(3) SiC]
(4) HE:]

1) 1

(2) 2




(3) 3
(4) 4

1[Option ID=26549]
2[Option ID=26550]
3[Option ID=26551]
4[Option ID=26552]

Sl. No.64
QBID:1045039

Who among the following used the concept of 'Oceanic Circle' 7

(1) J.L. Nehru
(2) B.E. Ambedkar
(3) Mahatma Gandhi
(4) Jayprakash Narayan
(1) 1
(2) 2
3) 3
(4) 4

fFrafaf@a & @ Faa nfafas afea & muror 1 aaer Far g 2

(1) ERUC e L

(2) d1LAR. 3dsHT
(3) HETCAT el

(4) SAAYHIA ALHOT

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26553]
2[Option ID=26554]

3[Option ID=26555]
4[Option ID=26556]

Sl. No.65
QBID:1045040

The work "Who were the Shudras' is associated with

(1) Periyar

(2) Ambedkar

(3) John Dewey

(4) Mahatma Gandhi
1) 1
2) 2
3) 3

(4) 4




E & & Y fraw d@efta § 2

(1) iR
(2) HFasHT
(3) EIGREC]
(4) HETcHT et
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26557]
2[Option ID=26558]
3[Option ID=26559]
4[Option ID=26560]

Sl. No.66
QBID:1045041

The term 'Original Position' is associated with

(1) Brian Berry
(2) John Rawls
(3 S. Moller Okin
(4) Michael Walzer
1) 1
(2) 2
3) 3
(4) 4
g 'RE=er gifaew Fad #efaa § 2
(1) EIRGECE
(2) i e

(3) TH. Ao 3
(4) HAIgshd dleail

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=26561]
2[Option ID=26562]

3[Option ID=26563]
4[Option ID=26564]

Sl. No.67
QBID:1045042




'Leviathan' was written by

(1) Locke
(2) Hobbes
(3) J.S. Mill
(4) Rousseau
1) 1
(2) 2
3) 3
(4) 4
faaT & d@s FiA § 2
(1) wis
(2) HEi
(3) . wH. e
(4) w4l
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26565]
2[Option ID=26566]
3[Option ID=26567]
4[Option ID=26568]

Sl. No.68
QBID:1045043

Who among the following defined "Politics as the Authoritative Allocation of Values"
9

(1) Harold Lasswell
(2) David Easton
(3) Adrian Leftwich
(4) lan Bell

(1) 1

(2) 2

3) 3

(4) 4

feafof@a & ¥ fFaa a=alifa #F #e3l % Hcdleds HEea & &9 H
gfeia & 2

(1) glcs arHad

(2) 2z Srear

(3) ED DL TAC e

(4) I 9




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26569]
2[Option ID=26570]

3[Option ID=26571]
4[Option ID=26572]

Sl. No.69
QBID:1045044

Who among the following is considered as a ‘reluctant democrat' ?

(1) J.S. Mill
(2) J.J. Rousseau
(3) Thomas Hobbes
(4) J. Locke

1) 1

(2) 2

(3) 3

(4) 4

fFrAfof@d # & el '3 se Ak Tarer AT ST g ?
(1 . . fAd
(2) o i o
(3) ATAT gled
(4) . dlR
(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=26573]
2[Option ID=26574]
3[Option ID=26575]
4[Option ID=26576]

Sl. No.70
QBID:1045045

'"The Saptang Theory of State' is associated with

(1) Kautilya

(2) R.S. Sharma

(3) ] .P. Narayan

(4) M.N. Roy
(1) 1

(2) 2




(3) 3

(4) 4
T H gedie Bgia Fad gefma g 2
(1) Fifeer
(2) HR.UH. AT
(3) Sl AR
(4) THOA. 1T
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26577]
2[Option ID=26578]
3[Option ID=26579]
4[Option ID=26580]

Sl. No.71
QBID:1045046

"Hindutva : Who is a Hindu" was written by

(1) Savarkar
(2) Golwalkar
(3) Lala Lajpat Rai
(4) Bipin Chandra Pal
(1) 1
(2) 2
(3) 3
(4) 4
“%’Wzigﬂvﬁﬁg'%ﬁ@?ﬁa#h??
(D HETH
(2) B EIC=Ty
(3) el ATsTd T
(4) & 9 o
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26581]
2[Option ID=26582]
3[Option ID=26583]
4[Option ID=26584]

Sl. No.72
QBID:1045047




The concept of 'Complex Equality’ was given by

(1) John Rawls
(2) Michael Walzer
(3) Ronald Dworkin
(4) David Miller
1) 1
(2) 2
3) 3
4) 4
Sifed @AEar fr yaurer Saa g 2
(1 SieT Uod
(2) HIgshol dleail
(3) UATes Falfret
(4) s Ao
1) 1
(2) 2
3) 3
4) 4

1[Option ID=26585]
2[Option ID=26586]
3[Option ID=26587]
4[Option ID=26588]

Sl. No.73
QBID:1045048

Isaiah Berlin is the author of

(1) Taking Rights Seriously
(2) Four Essays on Liberty
(3) The Constitution of Liberty
(4) What's Wrong with Negative Liberty 7
11
(2) 2
(3) 3
(4) 4

&urg afol s o ¢ °
(1) T T=ew ST
(2) BR T8 i foradr
(3) fe FiFeegaa 3w foradt
(4) geg o g Aafe =l -




(2) 2
(3) 3
(4) 4
1[Option ID=26589]
2[Option ID=26590]

3[Option ID=26591]
4[Option ID=26592]

Sl. No.74
QBID:1045049

"Considerations on Representative Government” was authored by :

(1) Plato
(2) James Mill
(3) J.S. Mill
(4) John Locke
(1) 1
(2) 2
(3) 3
(4) 4
HIASUAH i Wl aade & a@s & & ?
(1) colel

(2) g e
(3) s.ug. Aw
(4) Eicicicy

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26593]

2[Option ID=26594]

3[Option ID=26595]
4[Option ID=26596]

Sl. No.75
QBID:1045050

The United Nations 15

(1) A Multinational Corporation
(2) An International Organisation
(3) A Non-Governmental Organisation
(4) A business entity
1) 1
(2) 2
3) 3

(4) 4




TGFA [T §

(1) TF SIS 1Y

(2) T AU HIseT
(3) TF I-TFHRT GIraa
4) TF AGAAF SHS

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26597]
2[Option ID=26598]

3[Option ID=26599]
4[Option ID=26600]

Sl. No.76
QBID:1045051

Major wars between India and Pakistan took place in

(1) 1947 — 48, 1965 and 1971
(2) 1962 and 1965
(3) 1962 and 1999
(4) 1965 and 1999
(1) 1
(2) 2
(3) 3
(4) 4

Waﬂrmﬁmmgﬁw?ﬁ?

(1) 1947 — 48 1965 31T 1971
(2) 1962 3T 1965
(3) 1962 31T 1999
(4) 1965 31T 1999
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26601]
2[Option ID=26602]
3[Option ID=26603]
4[Option ID=26604]

Sl. No.77
QBID:1045052




Who among the following thinkers 1s known for Realism in International Relations ?

(1) Hans J. Morgenthau
(2) Robert O. Keohane
(3) Joseph Nye
(4) Immanuel Wallerstein
1) 1
(2) 2
3) 3
(4) 4

RrAfafla § @ Fa-¥ Rigs siatsdy gadt # 7o ¥ v 5w QS
i)

(1) & 1. wfar

2) Jae 3. e

(3) % &JT
(4) SFART 3 ATeRE
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26605]
2[Option ID=26606]
3[Option ID=26607]
4[Option ID=26608]

Sl. No.78
QBID:1045053

SAARC was founded in the year

(1) 1991
(2) 1985
(3) 1950
(4) 1965

(1) 1

(2) 2

(3) 3

(4) 4




g Fr Tagar TP I F ¥ 78 off 2

(1) 1991
(2) 1985
(3) 1950
(4) 1965

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=26609]
2[Option ID=26610]
3[Option ID=26611]
4[Option ID=26612]

Sl. No.79
QBID:1045054

Two superpowers during the Cold War were

(1) UUSA and Russia
(2) UK and Russia
(3) USA and USSR
(4) UK and France

(1) 1

(2) 2

(3) 3

(4) 4

Mg & aRie at FAgrIfed Ig Fia-d 4 2

(1) guau. 3R &
(2) . 3R w1
3) UE.U. 3R J THETE.IR.
(4) T, 3w
(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=26613]
2[Option ID=26614]
3[Option ID=26615]
4[Option ID=26616]

Sl. No.80
QBID:1045055




Which of the following is not a key feature of India's Act East policy ?

(1) To boost its economic and strategic security
(2) To develop strong relations with Indo-Pacific nations
(3) To emerge as a regional superpower
(4) To secure access to capital, technology, energy and markets
(1) 1
(2) 2
3) 3
(4) 4

frfafea & & Fia & #1ra i ‘vae §we AT Fr g7@ Fdvar a8 € 0

O AT FdeTaEar AR R qReT F ao G

2) eI+ Teat & WY gee Hadl T RHfd wer
(3) g FErIfFa ¥ &9 F 3T

(4) Seh. Slezferr. 35 i aremt o= of= glafaw e

1)1
(2) 2
3) 3
(4) 4

1[Option ID=26617]
2[Option ID=26618]
3[Option ID=26619]
4[Option ID=26620]

Sl. No.81
QBID:1045056

Match List I with List 11 :

List I (Treaty) List I (Year)
A Geneva Protocol L 1968
B. Nuclear Non-Proliferation Treaty IL. 1925
C: ABM Treaty I 1979
D. SALT II Treaty IV, 1972

Choose the correct answer from the options given below :

(1) A-1 B-I1, C-III, D-1V

(2) A-1l, B-1, C-III, D-1V

(3) A-Il, B-1, C-1V, D-III

(4) A-L B-11. C-1V, D-III
(1) 1

2) 2




(3) 3
(4) 4

T 1& w1 F Aew fifse

T 1 (H)

Sar Weiel
TLATY] ITER HiY
varuH. |9

o N B >

Hiee-11 @

L
II.
I
IV.

= 11 ()

1968
1925
1979
1972

#rr fow arv Jeedl & @ #@Er 3ca¥ F1 T3 fifFvw

(1) A-1, B-II, C-I1, D-IV
(2) A-11, B-1, C-II1, D-1V
(3) A-I1, B-1, C-IV, D-1II
4) A-1, B-II, C-IV, D-III

(1)
(2)
(3)
(4)

A W N =

1[Option ID=26621]
2[Option ID=26622]
3[Option ID=26623]
4[Option ID=26624]

Sl. No.82
QBID:1045057

Match List I wath List 11 :

List I (Name of Author/Thinker)

Machiavelli
Thucydides

oSN wp

Kenneth Waltz

Hans J. Morgenthau

List I (Name of Book)

Theory of International Politics
Politics Among Nations

The Prince

The Peloponnesian War

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1)
(2)
(3)
(4)

H W N =

A-1, B-I1, C-I1, D-IV
AL B-IV, C-11, D-1
A-IIL, B-1V, C-1, D-I1
A-1V, B-111, C-11, D-1




T 1wy = 1 F Aees fifvw

T 1 (/T & A1) T 11 (TEcTh T ATH)
A, AfFITEE L 29y 316 Setaieaa difafesd
B.  yfasssw Il oifafesa 3 ey
C. ga. & anfar . g &=
D. Fay aecH V. & derdaf@aa an

A o v Beedt # & 98 3o} F1 T39 fifGv

(1)

(4)
(1) 1
(2) 2
(3) 3
(4) 4

A-1, B-11, C-I1, D-1V
A-IIL, B-1V, C-11, D-1
A-IIL B-1IV, C-1, D-II
A-1V, B-111, C-11, D-1

1[Option ID=26625]
2[Option ID=26626]
3[Option ID=26627]
4[Option ID=26628]

Sl. No.83

QBID:1045058
Arrange the following Cold War events chronologically from the earliest to the latest.

mo 0w

Cuban Missile Crisis

Suez Crisis

Soviet intervention in Afghanistan
Vietnam War

Korean War

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2

E,A,B,D,C
E.B,A D,C
B,E,ACD
B.E,A,D,C




3) 3
(4) 4

Qﬁﬂgﬁ%ﬂﬂﬁg@ﬂﬁﬁﬁqjﬁﬁ#ﬁaﬂmﬁwﬁmﬁﬁ
Cogl

B. ¥ #hc

C. Nhenfeea # Afdad geasa
D. fEad= g

E. FIRAT g

7 fr v Teedt # ¥ @8 3o} = T3 fifSw

(1) E.A,B,D,C
(2) E,B,A,D,C
(3) B,E,A,C,D
(4) B,E,A,D,C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26629]
2[Option ID=26630]
3[Option ID=26631]
4[Option ID=26632]

Sl. No.84
QBID:1045059




Which of the following statements about NAM are correct 7

A NAM represented the concerns, interests and aspirations of the developing
countries.

B. It emerged in the context of a wave of decolonization after the Second
World War.

E: India was one of the founding members of NAM.

D. The relevance of NAM after the end of Cold War is being debated.
E. NAM supported the policy of Imperialism.

Choose the correct answer from the options given below :

(1) Only A,B, Cand E
(2) Only A, B, Cand D
(3) Only A, B, Dand E
(4) Only A, C, D and E

(1) 1

(2) 2

(3) 3

(4) 4

fFrfaf@a # @ Fia-#la @ Fua 3¢ #R9 o (W.UO.wA.) & dae A
wer g ?

Al .0 vA. ferasfier g & ATt Rat v smeramstt @
oAt sar ¢ |

B.  ug g fva gg ¥ weara -3ufaaeEe $ ogx & aRger &
I

C. R TA.UUA. & EEUYS Tl A ¥ TH ¢ |

D.  offq g & #AfeT & weara wa.wus. & 3ifRer W aww @ @
g1
E. TA.UUA. o HHegae f Afg Fraad=7 Fawr g |

A GU 70 fGwedt # & 96 3cck 1 994 HifSw
(1) %ael A,B,C.E
(2) Fad A, B, C,D
(3) Fad A, B,D,E
(4) Fa A,C,D,E

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26633]
2[Option ID=26634]




3[Option ID=26635]
4[Option ID=26636]

Sl. No.85
QBID:1045060

Who is the author of the book "Engaging India : Diplomacy, Democracy and the
Bomb" ?

(1) Jaswant Singh

(2) Strobe Talbott

(3) C. Rajamohan

(4) Harsh V. Pant

1) 1

(2) 2

3) 3

(4) 4

‘gAfS sfEan: Boadh At iz i a9 & d@s ST € 2
(1) Faad g
(2) e Cledlc
(3) & gaHEEa
(4) g ar ga

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26637]
2[Option ID=26638]
3[Option ID=26639]
4[Option ID=26640]

Sl. No.86
QBID:1045061

The US-Indian Nuclear Cooperation Approval and Nonproliferation Enhancement Act
was signed in the year

(1) 2005
2) 2001
(3) 2008
(4) 2020
(1) 1
(2) 2
(3) 3

(4) 4




. UH.-RCAT GTATY] HedT 3eqAle 3R H9ER dad dfafaasd o7 geaen
e a¥ # fov v & 2

(1) 2005
(2) 2001
3) 2008
(4) 2020

(1) 1

2) 2

(3) 3

(4) 4

1[Option ID=26641]
2[Option ID=26642]
3[Option ID=26643]
4[Option ID=26644]

SlI. No.87
QBID:1045062

Woodrow Wilson's 14 points stressed the importance of

(1) Self-help in International Relations
(2) Security Dilemma in International Relations
(3) Traditional Morality in International Relations
(4) Collective Security in International Relations
1) 1
(2) 2
(3) 3
(4) 4

50T faewer & 14 fig fFas Agca Wad & £ 2
(1 RS Hael & Fad ggraar
(2) HTeErT HeHT # [T giaer
(3) AT wEut & IERET Afawar
(4) SRS waet F weReE e

1) 1

(2) 2

(3) 3
(4) 4

1[Option ID=26645]
2[Option ID=26646]
3[Option ID=26647]
4[Option ID=26648]

Sl. No.88
QBID:1045063




The purpose of the US Marshall Plan was

(1)
(2)
(3)

(4)
(1) 1
(2) 2
(3) 3
(4) 4

To extend economic loans to war-torn countries in Europe
To give US a favourable image as a creditor

To ensure economic stability and political order in the Post World War 11
World

All of the above

T.UF. AT CAT T AT 3T 47 ?

4)

(1) 1
(2) 2
(3) 3
(4) 4

AT F Fg YIIac SRiT Hr ITEH HOT I0cled FI=A1
HUEIT & &9 H JUH. H ThRIcHS BId FTedd el

efac faRa I & TRurd s FERar 3R TeEiias saae
gafRaa wwer

EENCTIE)

1[Option ID=26649]
2[Option ID=26650]
3[Option ID=26651]
4[Option ID=26652]

Sl. No.89

QBID:1045064

Which one of the following is not a part of the UN Millenium Development Goals

(MDGs) ?
(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Eradicate Extreme Poverty and Hunger

Achieve Universal Primary Education

Promote Gender Equality and Empower Women
Promote South-South Cooperation




i@ # ¥ Fia g Tog Feartes (@R oedl (TA.SNSN) Fr T
oer g 7

(1 yeafes e 3R @A F1 3T

(2) arasif@s arafds Rem &1 a8 ged F

(3) folar waAEar AR At wufEFasor w1 qaua

(4) gfaTor-gfaioT wgater

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26653]
2[Option ID=26654]
3[Option ID=26655]
4[Option ID=26656]

Sl. No.90
QBID:1045065

Which one of the following is not a type of Public Policy in Theodore Lowi's
classification 7

(1) Regulatory Policy
(2) Distributive Policy
(3) Redistributive Policy
(4) Welfare Policy

1) 1

(2) 2

3) 3

(4) 4

fararER | ¥ Fefferor ¥ sgen famafafaa & @ ia @ & Hifa &
Y del 8 ?

(1) i A

(2) fravor ity

(3) qAfaaror Hifa

(4) Feanr Afa

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26657]
2[Option ID=26658]




3[Option ID=26659]
4[Option ID=26660]

Sl. No.91
QBID:1045066

Which of the following is/are correct about the Hawthorne Experiments 7

A. It was a proneering study of how individuals behave in organisations.
B. It was carried out at the Hawthorne Works of Western Electric company, UK.

Choose the correct answer from the options given below :

(1) Only A
(2) Only B
(3) Both A and B
(4) Meither A nor B
(1) 1
(2) 2
(3) 3
(4) 4

gl JaeT % Tew H Fato@a #§ & F47 T 8 2

A IE IRfEFF 9HE 3eTIS AT fF A= §aeAr 7 R TR
STIER F{d ¢ |

B, 7g qfietor aTeA TofEed FUAL TF. F g IHE F RRar
|

drr fer aT BFeat # ¥ OEY 3o F T FifFT
(1) Fae A

(2) %49 B

(3) A 3R BERT

4 AR BH T FS 7T

(1) 1
2) 2
(3) 3
(4) 4

1[Option ID=26661]
2[Option ID=26662]
3[Option ID=26663]
4[Option ID=26664]

Sl. No.92
QBID:1045067




The book 'The Principles of Scientific Management' was authored by

(1) F.W. Taylor

(2) Henn Fayol

(3) Luther Gulick
(4) Lyndall Urwick
1) 1

(2) 2

3) 3

(4) 4

‘Rfvew 3ife agfefhes Adssie gras & dus Ha 42

(1 T®h. e, Tok
2) gl thairer

& oRI

@) IGECEENERD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=26665]
2[Option ID=26666]

3[Option ID=26667]
4[Option ID=26668]

Sl. No.93
QBID:1045068

Who is associated with the concept of 'Bounded Rationality' ?

(1) Charles E. Lindblom
(2) Herbert Simon
(3) Thomas R. Dye
(4) Yehezkel Dror
(1) 1
(2) 2
3) 3

(4) 4




EoC

AT gFErgar fr JEURoT ¥ gaeT g 0

(M aed 5. folsem

) g9C WSAT

(3) UTAH 3R, 515
(4) IoTehel 3K

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=26669]
2[Option ID=26670]
3[Option ID=26671]
4[Option ID=26672]

Sl. No.94
QBID:1045069

Which of the following statements are true about "game theory'?

A
B.
.
D.

E.

Game theory attempts to understand collective human activity as an outcome
of interactive decisions.

[t assumes decision-makers are involved 1n choices that are interdependent.
In game theory the 'best’ depends upon what others do.

Game theory can be applied to decisions about war and peace, use of nuclear
weapons and international diplomacy.

The conditions of game theory are always approximated in real life.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2
(3) 3
(4) 4

Only A, B,C, D
Only A, B, C, E
Only B, C, D, E
Only A, C, D, E




‘T ST F g9y & F=o@a & 9 Fi9 ¥ a9 = &2

A g g aEfes AeT afafefaat st e faers Aot &
IRUMH *F FT H FHS FT 99F ¢ |

B. g A=ar ¢ & vy = 9 da.wEfaT Rt F af@e a1 €

. O ST # 3opse 59 919 W R w1 & F 3w a@er Fmm oW
wWE

D. @ feia & wamr g2 3 uifa. i ow= i F 393 #k
HASAT FeAfa % vt & frar o1 g ¥

E. g faga fr ofifeufaar gdg sl g s o adr &

drer fer 1T Tt # ¥ TET 3o T 9 HifSU
(1) *del A.B.C.D
(2) F9d A.B.C.E

(3) #dd B.C.D.E
(4) +dc A.C.D.E
(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26673]
2[Option ID=26674]
3[Option ID=26675]
4[Option ID=26676]

Sl. No.95
QBID:1045070




Which of the following are true about a federal system ?

P

E.

A federal system is based on a constitutional division of power.
In a federal system the power remains centralised.

A federal system is an innovation of modern times to deal with the i1ssues of
mass democracies.

In a federal system the regional units participate in the decision-making
process at federal level electorally.

It is characterised by primacy of territorial representation.

Choose the correct answer from the options given below :
(1
(2)
(3)
(4)

(1)
(2)
(3)
(4)

1
2
3
4

Only A,B,C,D
Only A,C,D,E
Only A, B, C

OnlyB,C,D,E

T o F ey A Ra@a s o Fis g Faa @@ ¢ °

A

B.

UF THT TIET s + Tdurfas Reamaa ox smafa €
T waT § oS d FE9d War ¢ |

T aEdT S dihad I FAEE ¥ e F v sryfas
AT #T GAATCHF JOell § |

T cage § g9y sl R Hrofrw A o T W
AT FEATRIAT FIT 8 |

g gfafafes i gu=ar sa+ 7T § |

e fer a1T eat # ¥ WEY 3oaT T T ST

(1)
(2)
(3)
(4)

(1)
(2)
(3)

(4)

A W N =

Fde A.B.C.D
%9 A.C.D.E
Fdd A.B.C

Fdd B.C.D.E




1[Option ID=26677]
2[Option ID=26678]
3[Option ID=26679]
4[Option ID=26680]

Sl. No.96
QBID:1045071

Who coined the phrase 'Catch-all' party 7

(1) Robert Dahl
(2) Duverger
(3) Sartori
(4) Otto Kirchheimer
1) 1
(2) 2
(3) 3
(4) 4
‘Fg-3ter adT A T FEA S B0
(1) {fac SiEdl
(2) Jgash-
&) weflr
i 3ifeY FHepIgAT
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=26681]
2[Option ID=26682]
3[Option ID=26683]
4[Option ID=26684]

Sl. No.97
QBID:1045072

Which of the following are modern approaches to Comparative Politics 7

(1) Behavioural Approach
(2) Structural-functional Approach
(3) Systems Approach
(4) All of the above
(1) 1
(2) 2
(3) 3

(4) 4




i@ # & Sl @/ JoiarcAs Tk & s 39RH § 2

(1) [ CRIECIGA]
2) FEATCHS - HEicHS AR
(3) SHTEYT 39TTH
(4) I gt
1 1
2) 2
(3) 3
(4) 4

1[Option ID=26685]
2[Option ID=26686]
3[Option ID=26687]
4[Option ID=26688]

Sl. No.98
QBID:1045073

Who among the following 1s not a classical elitist thinker ?

(1) J.A. Schumpeter
(2) Vilfredo Pareto
(3) R. Michels
(4) G. Mosca

1) 1

(2) 2

3) 3

(4) 4

Ffafeg & @ o9 @ ey sl Ras a8 ¢ 2

M S ¥ e
(2) delthsl Uder
(3) FR. fAdew
(4) ST, AR

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=26689]
2[Option ID=26690]

3[Option ID=26691]
4[Option ID=26692]

Sl. No.99
QBID:1045074




Which of the following statements is/are correct ?

A
B.
C.

D.

The origin of constitutionalism 1s traced in the Magna Carta.
State Duma 1s Russia's national legislature.

Separation of powers 1s about distributing powers between the Centre and
the States (Units).

Canada has parliamentary-federal polity.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)
(1) 1
(2) 2

3) 3
(4) 4

Only A and B
Only A.Band C
OnlyA.Band D
Only D

rfaf@d # & =i a/d FU wer &8 7

afatnaare 1 3cufed FF AT HeT # 9TAr I T & |

=

w1 UG U 9 wReE AR |

HOFRT F Qe § arced, Feg 3R aoAl (g@Ean) & &=
HOFRT & BaRor & & |
D.  wFamsr # guda-vg Uo-caaewm & |

T Rr v Teedt # ¥ @8 3o} F TIa fifSw

(1)
(2)
(3)
(4)

(1) 1
(2) 2
(3) 3
(4) 4

Fad AR B
Fae A, B3T C
Fad A,B3IR D
Fad D

1[Option ID=26693]
2[Option ID=26694]
3[Option ID=26695]
4[Option ID=26696]




Sl. No.100
QBID:1045075

Functions of a Political Party include

moO0w >

Coordination within government and society
Contesting elections

Recruitment of cadre

Representation

Legislation

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(1)
(2)
(3)
(4)

H W N =

Only A, B,C, D
Only A, B, D, E
Only B, C, D, E
Only A, C,D, E

TS+ ot & Fraf 7 anfAaa §

m o 0w e

WS 3R AT & o6 gH-ag
AT A3
HIET Al
gfafaftcs

ezl =Tl

A T 7iv Baedl # ¥ ¥81 3cay FT 9T HeIT

(1

(1)
(2)
(3)
(4)

A W N =

Fad A B,C,D
Fdd A, B,D,E
dd B,C,D,E
&ad A, C,D.E

1[Option ID=26697]
2[Option ID=26698]
3[Option ID=26699]
4[Option ID=26700]




